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CMERST

#include<bits/stdc++.h>

using namespace std;

int i;

float f;

double d;

char c;

int main(){
scanf("%ckd%f%lf",&c,&1,&F,&d);
printf("%c %d %.6f %.61f",c,i,f,d);

0. return 0;
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CRNEEST

1. #include<bits/stdc++.h>

2. using namespace std;

3. int x;

4. int main()

5.

6. scanf("%d",&x);

7. printf("%02d:%02d:%02d", x/3600, (x%3600) /60, x%60) ;
8. return 0;

9. }
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#include<bits/stdc++.h>
using namespace std;
int Xx;
int main()
{
cin>>X;
cout<<setfill('0"' )<<setw(2)<<x/3600<<":"
<<setw(2)<<(x%3600)/60<<":"<<setw(2)<<x%3600%60;
: return 0;
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CAER ST
#include<bits/stdc++.h>
using namespace std;
int a,b,c,a2,b2,c2;

int main()

{
scanf("%d:%d:%d",&a2,&b2,&c2);
scanf("%d:%d:%d" ,&a,&b,&c);
printf("%d", (a*3600+b*60+c) - (a2*3600+b2*60+c2));
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#include<bits/stdc++.h>

using namespace std;

int x,y,z;

int main(){

scanf("%d%d%d", &x,8&y,&z);
printf("%8d %8d %8d",x,y,z);
return 0;
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[R5z )
#include<bits/stdc++.h>
using namespace std;

int x,y,z;

int main(){
scanf("%c%chc",&%,8&y,&z);
printf("%ckckc",z,y,X);
return 0;
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1. #include<bits/stdc++.h>
using namespace std;
int al,a2,a3,a4,a5;
int main(){

scanf ("%d%d%d%d%d" ,&al,&a2,&a3,&4,8&a5);
al/=3;a2+=al;a5+=al;

a2/=3;al+=a2;a3+=a2;

a3/=3;a2+=a3;ad+=a3;

a4/=3;a3+=a4;a5+=a4;

ab5/=3;a4+=a5;al+=a5;
printf("%5d%5d%5d%5d%5d",al,a2,a3,a4,a5);
12. return 9;
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